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2016.10 (9TIHLS>T C901 V3 540 8,640
B3y b D23N V7 790 7,560 1.6h ° O 2= (KENSTYLE) B4 R7>4—-2h—M3E/ (DAMD) H4 36
B0y T B2 NETY, D10E 51 SJ3 86| RIOFH5—{38
Total 16,372
2016.8 [J2—-TIWLJ45-Fh-)l % C903 V9 750 1,080] 0.1h ° O F4—Y)DE 34
2016.6 |A=/{\=~AyRI>Y—)LILEDFY>F1 b G46W 69 970 75 4,320
B3y b DO9T V7 130 2,700| 0.5h ° O £H 3FE
Total 7,020
2015.12 [I>>29—RZ4vF GKL1 66 3S0A 2,438 0.1h ° O £H 34
IAISSTH—2w>a (U7 RISy D10E V4 360 5,400| 0.5h ° O IA) 5> TH 8RR 34
D10F V4 360 5,400( 0.5h ® O JA) 5> THEER 3%
0> R - H——v3a D10E V3 290 31,860 [KENSTYLE]DO> M7 25 —A—-2v>1,
JwH TS5 — C900 V9 105 617| 0.5h ° O 2E [KENSTYLEJLEDZO> M1—F+—H—-Zw3a, [DAMD]JO| 34
Total 32,477 > NOF94—
77 —H—w31 D10E V3 300 31,860 I 7~ A — s
JIT5A%— C900 V9 105 617| 0.5h o ® 28 Jéglqs Ifi\';\_[';EDN_S,]T,;(EE] ITLIN=I2 | g
Total 32,477 [ 1rrz 7
ZHyITL—h (AIZR—3343) D10F V1 370 27,216
JwH TS5 — C900 V9 105 617| 0.4h ° O 2HE AhyITL—hk 3E
Total 27,833
2015.8 |[LEDIHwS5> T G46E V7 130 9,720] 0.6h [ O SE 34
2015.6 [R7Z)\>RIUEFEFHLES—B J0> MRV R) C903 V3 110A 1,674| 0.2h ° O E 34
18502 k-U74ttyh) |C903 V3 110A 3,348] 0.4h [ O 2E 34
N C900 V9 095 2,484| 0.2h [ O 2E 3
2015.5 [JL—FFvU/{—RA>b Ly R K050 WO A30 3,780| 1.5h ° O 2E JEIREE
J-JLR KO50 WO A31 3,780] 1.5h ° O 2E JEIREE
I — K050 WO A32 3,780] 1.5h ° O 2E JEREE
A —ILOvIy k<599 > C904 W3 495 8,100 - ° O 7 ZhA — )L fFEE 34
A =L Fy by h<T 599> |55°A (205AD) QMST LA 000 4,860 - ° O 7= A =) AFEE 14




